LESSON PRACTICE

Write on one line.

1
].L= 2._=

8_2 53
Rewrite using positive exponents.
3, 7= 4. X 6=
Simplify each expression and write it on one line.
5. 478.4°= 6. 6% .67°=
i (3—3) 2 _ 8. (A4)— 5 _
9. 4%3= 10. C®p>pbclcecd
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LESSON PRACTICE 19B

Simplify each expression and write it on one line.

11. PR FPE>F2e° - 12. Bl 23 e’ =
13. Y10 . y5oy3 - 14. ABX = A3X_
=Sv2y3vy?2 -3p2A5R3
15 X_:):\z’ _ 16. A4B_AB _
Y3Y X B4A3AS
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SYSTEMATIC REVIEW

Simplify as directed.
, ; 1 . . - -
1. Write on one Ime:; 2. Rewrite using positive exponents: 2 4
3. Write on one line: L 4. Rewrite using positive exponents: ¥

7—2

Simplify each expression and write it on one line.

5, 4% . 472 = B 5% u5bk=

7. A8p2 A3 a%B5 = 8. D23 c*p?c?p?=
9. 4710 . 46_ 10 XX =

1. 3% 2= 12. %7 =

13. (-8)% = 14, 25 =
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SYSTEMATIC REVIEW 19C

15 E—1F2F3E4
’ F*ZE-?:ES

16. What number is this? 1 x 103 +3 x 102+ 7 x 10% + 8 x 1072
(This is exponential notation.)

For #17-18: Find three consecutive odd integers such that three times the first
integer, plus four times the second, equals negative thirteen times
the third integer.

17. Write the equation using unknowns.

18. Solve the equation to find the integers.

19. Seven nickels and dimes have a total value of $.45.

How many are there of each coin?

20. Write 5X + 10Y - 20 = 0 in the slope-intercept form.
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SYSTEMATIC REVIEW

Simplify as directed.
1. Write on one line: ﬁ 2. Rewrite using positive exponents: g8
3. Write on one line: - 4. Rewrite using positive exponents: A

XS

Simplify each expression and write it on one line.

5. XA . XB= 6. 372 .38=

7. PP ETF2E3 P = 8. c8B°clc2pbct=
9. 73+ 7 16, KOV 2 x5

11. 103 4 = 12. (1,000%) =10’

13. -52 = 14, =36 =
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SYSTEMATIC REVIEW 19D

C>D*D3
" p2cIC3pt

16. What number is this? 2x 10*+5x 10" +6x 10™' + 9 x 1072

For #17-18: Find three consecutive even integers such that three times the first
integer, plus six times the second, equals eight times the third,
minus fourteen.

17. Write the equation using unknowns.

18. Solve the equation to find the integers.

19. Eleven quarters and dimes have a total value of $2.15.
How many are there of each coin?

20. Solve forXandY: Y-X=0,Y-3X=-4
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